Home Assignment #1 – Structual Design 2. semester
A costumer want to use a squared tubed profile with a thickness of 5 mm.

The free span is 4 meter and the uniform calculated load is 20 kN/m
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The maximum wanted deflection is 20 mm.

1. Draw the static system

2. Find the profile number: __ mm x __ mm x __ 5 mm

3. Find the reactions in point A and B
Another costumer want to use a INP profile.

The free span is 6 meter and there is a point load of 40 kN situated 1,5 meter from the left.
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Draw the static system

2. Find the profile number INP-___

3. Find the maximum deflection

4. Find the reactions in point A and B

A third costumer would like a to use a HE-B profile.
The beam is dobblespanned, and each span is 4 meter. The uniform load is 15 kN/m

1. Draw the static system

2. Find the profile number HE-__B

3. Find the reactions in point A, B and C
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Best regards

Nicolai Green Hansen
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